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Game Mechanics: Play Space



Game Mechanics: Rules
• GOAL:
• The get Galileo to Eureka!
• The ‘Difficulty Challenge’ (DC) rating will be a total score of 60.
• Win game: A successful Eureka Gambit Roll of DC 60.
• Lose game: the ‘DOGMA’ rating reaches 12.
• ALL PLAYERS start at Conformist and have STEM IQ of 0.
• TURN (per player):
• 1. HISTORY – Problem Card turned over.
• 2. Each Player Draws their Next PROCESS card. (Card has both conformist and innovator views listed.)
• 3. Each Player Rolls 1d6. 1‐3 draw DOGMA. 4‐6 draw Discovery .
• Draw card and apply results as appropriate. Add Dogma/Discovery point to tally as apt.
• (ROLL 1, dogma point. ROLL 6, Discovery point.)
• 4. HISTORY – Question Card turned over.
• 5. HUDDLE – group discusses and then answers Question for an Innovator point.
• 6. Apply results to STEM IQ scores. Play Dogma/Discovery cards as appropriate.
• 5. Eureka Gambit!
• Player may choose to roll 2d6 and apply all 4 players current ROLE rank score PLUS the
• discovery(+)/dogma(‐) and innovate(+)/conform(‐) totals to attempt to beat the ‘DC’ of 60 for Galileo.
• (IF player’s roll FAILS, they lose 1d6 innovator points.)
• >> Repeat TURN sequence for Next Player until game is over. <<



Game Mechanics: Testing



Game Mechanics: Testing

• Insert Video here



Results of testing

• Board was too complex
• Rules were too based on dice roles
• All content was didactically presented
• Decisions from players were at too low a level 

of learning
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Results of testing

• There was a need for more interaction
• The mechanics were too dependent on 

chance and not enough on thought process
• Assigning each player a content role (STEMH) 

too dependent on player competency
• Flow of the play was not fast enough to be 

engaging
• No chance to be engaged with 

rich history and/or the scientists



Learning Environment: Strategy

• NEED FOR MORE:
– Content flow
– Player Interaction
– Engaging visuals and “Sense of Place”
– Higher level thinking via Content Challenges
– All players equal status
– Team Collaboration wins the game
– Individual paths through the game



Game Mechanics: Exploration

CATAN
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Game Mechanics: Actions



Content Challenge



iKIDS: SCENE: Opening Scene
Scenario: 1b-After 1st roll & entering iKIDS HQ Resource
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Challenge Question

HISTORY PROBLEM

Galileo was very familiar with the views of 
the day stemming from Aristotles’ view 
that the heavier an object was, the faster it 
would free-fall to earth. He experimented 
with rolling balls of different weights along 
an inclined plane and found that they 
moved at the same rate. Fellow scientists 
were not convinced that this proved 
Aristotle wrong.

What should he do instead to convince his 
fellow scientists?

ANSWER:

He should form an experiment where he 
drops two objects of different weights, 
but the same shape and size, and observe 
if they accelerate at the same speed.



Challenge Question

ENGINEERING PROCESS QUESTION:

What would you expect to happen if a stone 
were dropped into a hole that extends 
through the center of the earth from the 
North Pole to the South Pole?

ANSWER:

It would oscillate back and forth between 
the poles until it came to rest at the center 
of the earth

MATH PROCESS QUESTION:

A stone is dropped from the edge of a roof:

How long does it take to fall 4.9 meters?
And what is the formula you used?

ANSWER:

1/2 seconds

A =(mg/mi)G
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